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COMMERCE

(Honours)

Paper : COM-HC-6016
(Auditing and Corporate Governance)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks jfor the questions.

Answer either in English or in Assamese.

Answer Group-A and Group-B
in Separate Answer books.

Group-A
(Auditing )
1. Answer as directed : (any four) 1x4=4
o Sepi} Oed WAl 3 (Rigserzan s1/961)

(i) Final audit starts after the end of
financial year.

(State whether the statement

is True or False)
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(v) Write two types of negative audit report.

ﬁ@ma€EEC$mf%E§@Eﬁﬁﬂw§g
TS 6 W (Gfes! o o wPrey f773)
AN f2pist AR eAfSrvae 757 elq fora |

(i) audit is done by the staff of

the employer. (ptugthegblank) (vi) What is management audit ?

oo o Reser N |

PR o1l S Wi /e
T 4l 2| (Tl 312 73 )
.
(i) Write the meaning of fraud. | (vii) One of the object of cost audit is to
- ‘ reconcile cost accounts and
oy =1 ferdt |
accounts. (Fill in the blank)
(iv) The auditor’s report is addressed to the Beslve 8 Bt S Rtois R
members of the company. AR ISR S
(State whether the statement AR < I
is True or False) | (T A2 9 F9)
ot S o @it AR
AR S T 2w (viii) Write the meaning of internal audit.
(Sfezsr 7oy (o wprey f73i) oreres el f2bist At ol B
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® 3.. Answer the following questions : (any two)
2. Answer the following : (any three) 5x2=10

2x3=6

oo Al NIRRT Oes &4l ¢ (e ibr)
were e Oea ol ¢ (Ricrar fofby)

() Whathbissmeantbymouching? (i Removal of a company’s auditor

SR S W 2 I 251 AP SepTee

il f d int 1
(ii) Write the meaning of Audit Notebook. i) WREEEEC Yol T Eoe Jeernel “ehiecle
system

25l =19 Gt 3291 s &7 Tew SIeEsll Ao TafeT @B

(ii) Who is a company auditor ?
(iii) Advantages of an audit programme

@i Zpiot i @i =3 O S S

(iv) Write two points of distinction between : e :
(iv) Objectives of cost audit
frauds and errors.

2orell W T4 ers 2t 77 sl el | < i AR SrmRR
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4. Answer the following questions : (any two’ e
10x2=20 (d) Describe the important advantages of
cost audit. 10
wete fral eMEE Oed ol ¢ (e
(i 7o) 7 2olel AR wRFIK) R 0 9
(@) Discuss the auditor’s duty regarding (e) What is meant by ‘continuous audit’ ?
detection and prevention of errors and State the merits and demerits of such
frauds. 10 audit. 2+8=10
D W 2O 41 (AT S 2301 i s ‘g 251 S e 52 G fRoiet o1
iy @i 9% (IREE 3 50|
CFqo 2517 AT o e 4 |
Group-B
(b) Discuss the contents of an audit report. ' ( Corporate Governance)
10
1. Answer the following questions as directed :
FRbt=! 1315713 AT ey gz o <o (any six) ; )i
were N 2HCARE ol o Ses ¢ (Ricizar
=751)

() What is the meaning of vouching of

) A company cannot i
Cash Book? Write e (a) company issue redeemable

preference share for a period exceeding

vouching of cash sales. 2+8=10 B @S AR[e QI

v : O NGB o
ﬂﬁﬁﬁ%&ﬁﬁ%ﬁ%ﬁwﬁ%?ﬂﬁﬁﬁﬁ? e s 301
R AP +1ms farey YRR

¢ I
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(i) 10 years (iii) 1980’s and 1990’s
A S5b0 7] 550

(i) 15 years
(iv) 1960’s and 1970’s

¢ T
yavo 79| Y90

iv) 20 ye
(iv) years (Choose the correct answer)

By (3o Teeh! AT Tlmen)
(Choose the correct answer)
(T Teeh! AR TeT)

(c) In which year Maxwell Communication

’ C rate was established ?
(b) The concept of corporate social o

responsibility originated in which (I 5T “ IR SIS 91 @5 Hifoe
period ?
e
OST TARS Mol 4=elicpt (oicat ST
1 WIS Cafees @) 1974
280 2 Yywo
(i) 1982

(i) 19th century
>o e
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¢ .(e) As per the Companies Act, 2013, the
(i) 1964 maximum strength of directors on the
Board is 15. (True/ False)

™A B2, 2059 5 SEFR ARG Neeie

SaL8

AT A AT (ZR S T |
2558 _ (9% &%)
(Choose the correct answer)

( R i (f) Every Director can have only one DIN

d)  Pill (Director Identification Number)
(d) Pillar of corporate sustainability is (True/ False)

_ R 2ifSem FAIETFT GBI W DIN T |
(i)  the environmenta] pillar 1 (%) 99%)

ARt e

" Write the full form of UNDO.
(@)  the social pillar 7

AT wg UNDO-3 =54 oftht ferai |
(it) the economic pillar (h) German model of corporate governance
weT wg is two-tier board model.

: (Indicate whether True or False)
(iv) All of the above

G ERE ) fjgj T S wﬁcﬁ( 52 wgﬁ% ;@2:;
(Choose the correct answer) o
Clles Govehr A% Clerea)
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2. Answer very briefly of the following :

vy, i) x2=4 3. Write short answer of the following :
(any two) 5x2=10
wote MAPTEE ©fs sqie Tes ol ¢ (e 7o1) vy Seq ol ¢ (R g
(a) Wl'}at is meant by corporate (a) Discuss the benefits of corporate
philanthropy ? : :
sustainability.
e SRR e [ ol TR JRUPTE SEa 31 |

i (b) Explain the factors which affect

(b) What is green governance ? : i
business ethics.

CTeS SFpIFR S 2 : W%e%@a@mc@maﬂw
[t 4 |
(c) Write two features of corporate
governance. (c) Explain the principle of corporate
governance.
oM SRPIPFR 757 Y farat
fors SEpAIIRE ISR IR 4 |
(d) What is meant by business ethics ? (d) Discuss the differences between ethics
nd morality.
RS e A [ g
S i (SFOR AT AL TG B |
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4. Write long answers of the following :
(any two) 10x2=20

(e) Explain the arguments in favour
~ of and against corporate social
responsibility.

OER ST J2ER 4 ¢ (Rt b1 o AN MRS HoACE i [T 4!

(a) Write the meaning of good corporate (&P =0t |

governance. Discuss any two theories
of corporate governance. 2+(4x2)=10

TGy 5 SR it e @S SEEeEE
OPTRA RPN 75 sl 4 |

(b) Describe about the major corporate
scandals in India.

SIS WABS @REl I3y Fohl (@ETHFRIET ’
R 3t ==

(c) Discuss the essential requisites for good
ethics programme.

TJPWR 4 Te (ool R SREFE
CAMAERT R Sitsm1 25 |

(d) Explain different provisions of the
Companies Act, 2013 relating to
corporate social responsibility.

e AN Mo wore wfie @i
o2 2059-3 [ 3t g I w4
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